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portdon Lo thelr impoTlance
are as follows:

is called weight.

e number associated with items R pro
ds ol assigning cxplicil weight

The two popular metho
budget method.

{ 1] Total expendilure method and [ 2] Family
28 The assumplions of Karl Pearson's mefhod are
& [ 1) There is lincar correlation between two variables.

[ 2 ) There is cause-cifect relation Detwern two variables.

gsion coeflicienl b

the value of Y for
jnerease in the value of independent variable 3

ihe value of dependen

as lollows :

Imterpretation of regre
. b =the estimated change In
it means that a umit

. Le., when b= 0,
timated increase ol b units in

implies an €3

variable Y.
that a unit increase in the value of independent variabl

when b =<0, it means
ated decrease of |b] units in the value |

X implies an estim

dependent variable Y.

hen the effect of shortterm variations is to be eliminated to find trend, meth

& of moving average is more useful.
: formula for the probability of occurrence of at least one event out of th
penis A, B and C Is as follows:
PAL B C) = PLA] + P(B] + FPIC) - P(A Bl -PIANCI-PBAC)H+PIAD B~C)

L is less than §. Hence, there is posltive skEWwness i binomial probab
Eribution.


















